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Read the following instructions carefully and do accordingly (f5fsifie frmie SreiE «iw @3k

OUAICE (31R)

i) Group - A contains 22 questions with 44 marks and Group - B contains 4 questions with 16

marks. (3 - Teist 23 6 2t 88 799 @3k ¢ - Teital 8 T a0 Yo 799 ICR)

i) All the questions are compulsory (377 23F Tex T2 SA11F)

iii) Write the answer of each question in the specified space (2t 2t Tex W2 Zit =12)

iv) Papers of rough work are to be attached with answer sheet (zi Fi9iere 1 Tex »itaz AT grenie)
Group — A (2 x 22 = 44 Marks) < - [T (2 X 33 = 88 799)

1. Fill in the gaps (*[7g« 29 %) s — 2x10=20

Marks obtained

(i) The area of a square is 36 sq.m. Its value is sq. cm is

{5 FFA CFaTet w0 9ol | (ARG G el 2o —— — — —— |

(i) The angle between the hour hand and the minute hand at 4 O’clock is

9fGTe T34 8 B e 0 TOIF F61 ¢ Nesa Fi6E e (@ ieia a9 2s —— ———

8 8 v ¥
(i) 8+—+——=————— v +—+ =——————
10 1000 So Sooo
(iv) Thelength and the breadth of a rectangle are 2.5 m and 135.5 cm respectively. The perimeter of
the rectangle is m.
(b STOTHA 7 '8 2Z IAGT 2.€FBIF€ Soe.¢ BRI 2 SRR #IfFAm &g —— ——— o= |
(v) The difference between the smallest number of four digits and the greatest number of three digits
is

B SICET Faos W4 € for SEa Jges Mg Ieq o —— —— —————
(vi) The smallest number among 0.022, 0.002, 0.0202 and 0.0022 is

0.03%, 0,008, 0,020% 8 0,003% G ¥ Fued WAPH T —— ———————|

1 S
(vii) 5 Partof Rs.2 = Paise. LB o = o e AT |

(viii) The largest Prime number of one digit is

G SE g2 (e TR 2o —— ———— |
(ix) Anita’s annual examination will start from 23 February 2023 and the last exam will be held on
10" March 2023. Her exams will last for days.

feloid FIATH ATH ©F T 2039 AET O (TSI AR AIH (T ZCI 2039 AT S0 b | ©IRCH
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The number of 50 rupee notes that can be obtained by changing a note of 2000 rupees is

GG 2000 HIAE (@064 wAfF® —————————— 5 co BT (@I sinem T |

2. Each of the following questions has four alternative answers, among which only one is

1
correct. Underline the correct option. — mark will be deducted for each wrong answer.

(iif)

2
o 2l 2 vt <t s Tea (rea ity are W6y G Wia T 5 | AT Seafba Nes wisi whe |

a%%wﬁwzw%wwz‘fml 2x12=24
Numeral for Sixty crore sixty lakh sixty one is —

75 (I 7 o GG =IeF forte 2 —

(a) 60, 60, 061 (¥o,v0,0v)) (b) 60, 06, 661 (vo, oy, Luy)

(c) 60, 60,00,061 (vo,v0,00,0%) (d) 60, 60, 06, 061 (vo,v0,00,0L%)

(329x9)—....... = 2950

(OB X ®)—------ =3deo

(@ 1(s) (b) 5 (@) (c) 10 (>0) (d)11(53)

LCMof 7,14 and 17 is

q, 588 Y9 UJ TAIY T —

(a) 28 (xv) (b) 34 (©8) (c) 238 (x9v) (d) None of these (QaTAIF (@02 73)
. 9 2 ) 3
v L5 s L%

(a)= (b) > (c) < (d) none of these (TR (FFH2 73)
v) Shaded portions together in the figure is

+
fora e Sesafer N o ze T —
CHG (@il

@7 |3 ®) 3 |5 © 55 CIF
(vi) Number of tens in a crore are —

¢ (BT MR AR 261 —

(a) 10000000 (s>o0000000) (b) 1000000 (scc0000)

(c) 100000 (s>o00000) (d) 10000 (s0000)

(vii)

Ratan covers a distance of 1000 metres in 10 minutes. In one hour he covers the distance
(inmetre)—

o So TS Sooo RbR e Sfows T | (31 9 TR (@ 1A Sfowrs 302wl 2e1 (RbitR) —

(@) 60 (vo) (b) 600 (v00) (c) 6000 (voo0) (d) 60000 (woo00)



(ix)

(xii)

Inatriangle ABC, £4=30", ZB=60"; then the triangle is —

ABC fqgtes /4 =90, /B=vo’ 27 fagai’ 261 —

(a) an acute angle triangle (T fagen) (b) an isosceles triangle (3f&are fage)
(c) a right angled triangle (e fagen) (d) an equilateral triangle (3712 fage)

Total number of quadrilaterals in the figure is

foafbre bggrem ik 2 — | |

(@) 6 (v) (b) 8 (v) €9k (d) 11.(53)
Each angle of an equilateral triangle is —

@b T fqgred afst (@i e —

(a) 60° (vo”) (b) 30° (00”) (c) 45°(8¢°) (d) 90° (»07)

Among the following, the correct statement is —

fomferie fgfoufem sty v Kol 251 —
(a) Half an hour is equal to 20 minutes (T4 TH1F 131 257 L0 WfG)

b) > i o2 (£ e spm
()6|sequa 05(% . )
3 1 . . o S
(c) 5 and 5 are equivalent fractions (; 8 N O SRR

1 S
(d) 1 mmis 7 o of 1.cm (bmﬁﬁmgwwﬁbﬁﬁl)

Group — B (16 marks) ¢’ fTei9 (v 799)

3.(a) Find the missing number.

Ans.:

(b)

feeefm® sl (a1 |
5 6 8 2 3 1
7 6 4 10 ? 11
€ Y b ) © S
q Y 8 S0 ? bR

If Soham’s heart beats 72 times in one minute, how many times does it beat in one day ?

T IR T A S 48 99 27, O ©f @5 e Feaia i e 23 2



1 1
4.  Samir had a chocolate. It has 12 equal pieces. He gave 3 of it to Rajib, 1 to Manju and

1
s to Ratan. He ate the remaining part. How many pieces of chocolate did he ate ? 4

S P P
AN FCR S % 7 THCAT GF2I SR oo | (31224 » IRH AGRCT, S SR TG, R T

Wt et @3 AR =1l TS (49T | OIRE BIRIEnivg S0 paeal (31 fWeer c4em 2

2cm

5.  Find the area of the given figure. v i 4
awe fHafa ez e 57 |
4cm
S 3cm R
2cm
P Q

6. The step by step solution of a problem is given below. State the problem in minimum number
of words : (=5 NfAfes TETa AT Dot Trard T2 261 | TAATI T *9 IR FCA T 366 )

Length of the rectangle is 16 m N S N 4
Therefore its bredth is §= 8m

WQWN=£W=VW
So Perimeteris 2(16 + 8) m=2x24 m =48 m. :
S ARTAR = & x (S + ¥) FoE = 8w G

48
Length of one side of the square is — =12m

, 4 <of e <ol <t Oy = 33 b
Hence the area of the square is 12mx 12 m 8

= 144 sq.m. O A Fawe = 52 fibE x s G = 88 5o |




